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7 mwn: limitations on Mmaryn
a  /mm only affects poin by ratio (e.g. if 1 grape fell into 4 then all 5 fell into 200, we measure 1/200 [1mn], not 1/40 [1YoR]
i Note: this is contra opinion of 719X 7, who regards 15t mix as 'R nmIN (:0 MMIN)
b /m1m: if ynnn, only by ratio = if enough to be ynnn dough of P9 n, then all falls into larger loaf, not MR per all of it
i Note: this is also contra X" (®:2 191p) — if "IN leaven and 151N leaven fell in to dough
1 owom since the nmyIn-leaven isn’t enough to leaven on its own — dough is P51
2 x” follow whichever fell in last (i.e. if nmIn Y 1w fell in last and it was ynnn, entire dough is nn1In)
¢ 2Ny pp:only invalidate mpn per original amount of P23ww which fell, not total mix
i Note (7212 73): follows »"ara (3:7 mxNpn Rnaom) if mpn has 21 NRo of DnWI ', he may take 19 nro of drawn water, fill it
into an adjacent cistern and draw it into the mpn, since 1218® become “cleansed” if 2171 is D'nW1 'n and they are drawn
1 Implication: 13271 are more stringent and wouldn’t allow for nawnn
2 Challenge: 13nv "1 reported that all 40 nko may be brought in that way — follows neither opinion!
ii ~ Rather (727): meaning of pawn »a is amount of 0%3; follows »N 12 qOY "3, who rules (N:3 MRNPN RNaVIN) that if DN
P2IRY are poured in with less than one % per "), doesn’t invalidate nnpn
n mwn: further limitations on generation of nMoR
a  nznon ’p: only become sanctified when ashes are mixed in — and water is in *92 first
i Note (72112 79): this is contra w™, whose ruling is in the context of preparation of nvio m
1  If: he put the dirt in before the water, %109, but w”1 validates
(a) Argument: per v. 1 (m9) — w™ notes that it is 798, not 19; he explains that the 71 used the “wrong” word to
establish a MW nn with nvo (1aY::na9Y — v. 2)
(i) Just as: in nron M, the “dirt” goes onto the water, so too with nv1o
(ii) And just as: if the “dirt” (ashes) went in first — 7w3; so too in the case of nvo ’n
1. Source (that it is 1w in the case of nxvn »n): v. 1 it states 9y N1 (ashes first), but then it states 0»n on
"3 YR (i.e. water - o»n on — first)
2. Resolution: could put either first
2 And: our Rin’s position — 07N o1 is specific; Y9y 1NN teaches that they must be mixed
(@) Challenge: why have last phrase 8pn1? Perhaps 1% 1n11 is Xpn1?
(b) Answer: like everywhere, the 1°wan comes on top of the “base”, so too — the ashes (1"w2n) come atop the on
b 0797’3 doesn’t generate another v1an noa (if plowed)
i Note: this is contra 8™, who rules that a v190 n>a could generate another
ii 37 how far? 3 fields (the field where the grave was and one on each side) to 2 mayn
1 /e (furrow) is 100 NnR, per kn»1a which states so explicitly
¢ /o 20 nman taken isn’t nmn
i Note: this follows ™, per 3 mmIn; in case partners took mmAn, one after the other
1 758 71 both are nmn
2 y”rneither is "N (as each negated the other’s by taking separately)
3 pnom:if the 15t one took 1w, 2nd isn’t nmn; if 15t didn’t take properly, 2nd is nnn
d  /77pm a nnn cannot generate further; nor does DWp 191 make NN
i Per: mmnm (v. 3) — only the index wTpn can make nnn, the nMnn cannot
ii  And: ®n (v. 3) excludes o0
e  Dissent: nTiv "1 — 191 makes nnn
i Per: o (v. 3) — extends to 7o
1 237 read moiv as extending impact of NN even awa
f  Response (°non): only wTpn itself can generate NN, not a 1om
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